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A= ZEM ZH 0.20 2 2 0 0 0 0 0 0 2 2| A FB#150% 10858
X&) ZEm —NE 0.10 5 5 0 0 0 0 0 0 5 5| AKX BA51E9A9H
XE) ZEH R"EH 0.10 3 3 0 0 0 0 0 0 3 3[R BF51E9H9H
RE) ZEH A0 0.10 1 1 0 0 0 0 0 0 1 1{AK RFI515E9A9H
Z H)I ZEH BE 0.20 3 3 0 0 0 0 0 0 3 3[R BF51E9H9H
A=} ZEM B 0.10 1 1 0 0 0 0 0 0 1 1]AK BA51E9A9H
A= ZEH ZH 0.10 3 3 0 0 0 0 0 0 3 3| A BF51E9H9H
(B ZEm —NE 0.20 1 1 0 0 0 0 0 0 1 1]AK FBF05258A17H
(ZEEI ZEH EhE 0.10 1 1 0 0 0 0 0 0 1 1]A7 B#525&E8 H17H
AE)I ZEM F0E 0.20 1 1 0 0 0 0 0 0 1 1]AK FBF05258A17H
XE) ZEH FH 0.10 1 1 0 0 0 0 0 0 1 1]A7 BF53ETH11H
AE) ZEm BiF 0.40 4 4 0 0 0 0 0 0 4 ARYR FBF053F7A11H
A= ZEH ZE 0.10 1 1 0 0 0 0 0 0 1 1AV FRtR FBFI53FE78118
A=) ZEm EE 0.10 1 1 0 0 0 0 0 0 1 13K FBF053F7A11H
A= ZEH Za 0.10 1 1 0 0 0 0 0 0 1 1]A7 BF53ETH11H
A=) ZEm BiF 0.10 1 1 0 0 0 0 0 0 1 1]AK BF05445E10H 198
Z H)I ZEH ZE 0.10 1 1 0 0 0 0 0 0 1 1]A7 #1545 108 198
A=} ZEM BiE Ak 06047 H 148
=] ZEHh ERE 0.10 2 1 1 0 0 0 0 0 3 1[A7 FBF160%7 8148
A=} ZEM Bt Ak FEF0604E7H 148
A= ZEH EhF 0.03 4 4 0 0 0 0 0 0 4 AT IBF16249 250
AR ZEm BRITH 0.02 1 1 0 0 0 0 0 0 1 1]AK FBF0625F9H25H
ZE) ZEH BE 0.03 3 3 0 0 0 0 0 0 3 3| A BF63E8H11H
ZE) ZEm —NE 0.09 9 9 0 0 0 0 0 0 9 9[AK ERk3EIA18H

BF4TH.EXF. M
KEN LEM H.—DE.#%7E3T 0.04 3 11 1 1 0 0 0 0 4 12|AK ERR3EIA 18R
B.—0E

Z ZEH EXF EE 0.05 4 4 1 1 0 0 0 0 5 5[ ER3EIA18H
AE) ZEM B 0.02 0 0 3 4 0 0 0 0 3 AER ER105E7H308
Z )l ZEMh EE 0.01 0 0 1 0 0 0 0 0 1 NEE ER1057H308
AZEIN ZEMH BFE. &) By R, BF 0.04 2 2 3 4 0 0 0 0 5 6|AK ERi1E8H 138
AZEIN ZEM BF. BF 0.10 4 2 4 2 0 0 0 0 8 ALE ER12598118
ZE] ZEm BiF2T 0.04 2 1 0 0 0 0 0 0 2 [IEER ER1359H 108
ZE) ZEH BE2T 0.03 0 0 5 5 0 0 0 0 5 5[k SHTEI0H12B~13H
Z B )1 ZEM EHXF1TH 0.01 1 1 0 0 0 0 0 0 1 1|Ak SHTEI0A12H~138
Z B )1 ZEM EHXF2TH 0.00 1 1 0 0 0 0 0 0 1 1|7k SHTEI0A12H~138
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